Fluency 15 - Mastery - Session 2

.20-42+6=
.11/4-1/3 =
.2/5x140 =
.3/5+3=
.43+1118 =
.14/5+3/M10=
.6574 x31 =

. 15% of 440 =
9.29+725=
10.3/10 - 1/20 =

11. Here is part of a temperature scale

0 N o 0o B~ WON -

NN NN RN
Tfs'fc 0°C 5°C
A

a. What is the temperature shown at A?

b. What temperature is 20 degrees higher than A?

12. Liam makes a sequence of numbers starting with 300. He subtract 125 each
time. Write the next two numbers in Liam's sequence.

13. Here is part of a number line. Write the missing numbers within the box.

14. The temperature inside an plane 20°C. The temperature outside the plane is
-30°C. What is the difference between the temperature?

15. Circle two numbers with a difference of 8

-5 4 3 -2 1 0 1 2 3 4 5

Write two numbers with a sum of —6




